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Note:  Answer From Both the Section as Directed. The Figures in the right-hand margin indicate marks.

gug/ Section - A
1. frafaReaa srfderg—saRiy ueHl & Sar AT

Answer the following Very short answer type question :- 1X10

(i) 3enfires faerd §% U™ A € — Industrial Development Bank provider -
(a) A" Frei A Long-term Finance
(b) HEIH PTei fd&T Medium term Finance
(c) 31Y PTei< faT Short term Finance

(d) 3 || All the abore
(i) 3Mefre R Sueer a=M arell ferRaa weenslt # & W@ use fhaad!
TG B T ot —
First of all which institute tote has been established to finance industries -
(a) IDBI
(b) IFCI
(c) SIDBI
(d) ICICI
(iii) 19 TH FI fhaw I amarT 7fda By &1 g &7
How many finance commissions have been established so for‘7
(a) 12
() 15
(c) 11
(d) 10
(iv) T fRaRr St @aarg @ R Rafy o1 e e fAlked R @ e 2,
3 PEd © —
A statement that depicts the financial condition a the business on a fixed date is called-
(a) s T%IEBT Balance sheet
(b) TT—8I @Il Profit-Loss account
(c) fomtor @ran Manufacturing account
) L ?‘F}Ez; T8I None of the above v v
(v) flt W fPY T BM W P2 aul g Y g B 8, O OW PEd §—
Expenditures incured on a project generates income for many years, it is called-
(a) XIS gg Public expenditures
b) @ﬁ'ﬂﬁ gg  Capital expenditures
(c) faframr Investment
() TN@'(K‘I ¥ aﬂs‘ &l None of the above
(vi) TR 3ieNfire ST YEdie P adHM SuR a¥ @ar 87
At present what is the base year of Industrial production in India?
(a)2011-12
(b) 1994-95
(c) 1993-94
(d) 2000-01
(vi) < H 201718 ( —Ramx) # 90 &1 Sareq few T 6 i e w®
NeT |
Which state topped in sugar production in the Counting in the year 2017-18
(October- September)
(a) STR U Utter Pradesh




(viii)

(ix)

x)

(b) HERTSS Maharashtra
(c) AT, Tamilnadu
(d) 9oTE Punjab
oftg et sifie werer AT gE B T oY —
Rajeev Gandhi Labour welfare scheme was announced in the year -
(a) 38T 2001 April 2001
(b) TS 2004 July 2004
(c) 3T 2005 April 2005
) amjaﬁ # aﬁs‘ T8l None of the above.

e Wl wiic WEART W 991 &~ Bhilai Steel plant is made in the help to.

(a) S Germany
(b) ®F  Russia
(c) fSeT1 Britain
(d) B9  France
g Sart @ Y ore ¥ PR 1 e N a7l &
Govt. has announced industrial policy for small scale industries in the year.
(a) 1990 # 1990

(b) 1991 # 1991
(c) 1985 H 1985
(d) 1980 # 1980

2. fr=forRaa arg—Sa yeAl & Sar Afog —
Answer the following short - answer type question :-
(2) AN fac aven @t favwan fafag |
Write the characteristics of Industrial Finance.
(b) Foft vd AT wfiwar 3§ |Egas & wHsEy |
Explain the balancmg in private and social returns.
(c) TRASTT FeATHA BT FAT AU 7
What do you mean by project Evaluation?
(d) ‘NeNfrE sl B AiTe GReT | 3T HIT TH 87
What do you understand by the social sucurity of the Industrial workers.
(e) AB—TW TEUNT B AHEY a1V |
Describe the problems of Iron and steel industry.
YU/ Section - B
frafaRed Srd—Iai gl & Iar ARg —
Answer the following long - answer type question :-
/ Unit -1

2X5

12X5

3. AR enfire oy vl PH—aF o 87 ol v |ven &1 sienfis

fawra # arTe™ JHwEy |

Which are the Indian Industrial finance Industrial?

Explain the roll of any one institution in Institution? Development.
3[dr /OR

mmﬁm%mmémgmﬁﬁammaﬁﬂml

Stating the meaning of commercial Banks describe its various functions.

FBTS / Unit - I

4. I 93 (doi9 Hfie) 9 oMy Fu1 §Hsd 87 T 9o¥ e arRifdD {iR Bl

TG BT 87
What do you understand by Balance sheet? Does the balance sheet give the real
financial procures?

3Ydr /OR
facha Yo & b & Fed U9 30D HDbad! Pl FAASY |
Explain the Importance and indicators of assessment of financial soundners.

5. & I Hea fafy o1 Samever wfed W S |

Explain Net present value Method with illustration.
31Ydr / OR

ANTa—T fawewor @ @R BT do 59 dod d Es qAifeg @ o Ud

e P FHSSY |

Explain the cast Benefit analysis. Discuss the meaning and importance of Break-Even

Point in this reference.




TS / Unit - I
6. AN 2| & TR BT FHSNSY | WRHF NN s/ Y 9
P PRUT DI ARAT DI |

Explain the structure of Industrial Labour.
Describe the causes of low efficiency of Indian Industrial Labour

34T / OR

Aenfds ddy | S T FHIKI €7 SHD 9ge¥d Ud &7 B U 3

What do you understand by Industrial Ralation? Describe its objection & scop
TS / Unit-V

. TR T ST Bl WE WA I W §? T B IR B I

fafa # &0 B @ T ygE HRo €2 fageEr PR |

What are the main problems of our Jute industry? what are the main causes of

declining production and export of Jute Goods.
3Ydr / OR

99 R TP ey fafkay |

Write an essay an Bonus.
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